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In a certain code language-

‘economics is not money’ is written as, ‘ka la ho ga’

‘demand and supply economics’ is written as, ‘mo ta pa ka’

money makes only part’ is written as, ‘zi la ne ki’

demand makes supply economics’ is written as, ‘zi mo ka ta’

What is the code for ‘money’ in the given code language?
(a) ga (b) mo (c) pa (d) ta (e) la

What is the code for ‘supply’ in the given code language? (a)
only ta (b) only mo (c) either pa or mo (d) only pa (e) either
mo or ta

What may be the possible code for ‘demand only more’ in the
given code language? (a) xi ne mo (b) mo zi ne (c) ki ne mo (d)
mo zi ki (e) xi ka ta
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In a certain code language-

‘economics is not money’ is written as, ‘ka la ho ga’

‘demand and supply economics’ is written as, ‘mo ta pa ka’

money makes only part’ is written as, ‘zi la ne ki’

demand makes supply economics’ is written as, ‘zi mo ka ta’

What may be the possible code for ‘work and money’ in
the given code language? (a) pa ga la (b) pa la tu (c) mo la
pa (d) tu la ga (e) pa la ne

What is the code for ‘makes’ in the given code language?
(a) mo (b) pa (c) ne (d) zi (e) ho
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There are five statues - L, M, N, O and P - each of them having different height. Statue L is
smaller than only statue M. Statue O is smaller than statue N. Statue O is longer than statue
P. The height of the tallest statue is 20 feet. The height of the second smallest statue is 11

feetWﬂﬁ'ﬂT%-LMNoaﬁTP ﬁaﬁ#maﬁmmm%lﬂﬁL
mﬂﬁmﬁmﬁ%lmoﬁN#m%lmoﬁPQW%lm
S wicwT 1 ST 20 BT ¥ qEY FAW O AfE A FAE 11 B .}

What Will be the height of statue P?
(a) 13 feet (b) 15 feet (c) 9 feet (d) 12 feet (e)
14 feet

What Will be the height of the third tallest
statue? (a) 13 feet (b) 10 feet (c) 19 feet (d) 9
feet (e) 11 feet
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3MTS I Tad - E,F, G H, J,‘K, LI M TR Eight people -E, F, G, H, J, K, L and M are sitting
gAThI AT & IR AR g HI HR AG Fl around a circular table facing the centre. Each of

&S ¥1 3798 ¥ TS FeT-IT AT A E -
o faedwes, aefher, wiheR it denfaw
Al TR g P sHI FA A F KF IO H
GEY T 9T 93T ¢ AT, K &7 fisheds
st 81 d=fae 31X E & g haer i
safFd 81 Hae T AfFd g faa AEH
die d5d1 8| TAHFR, ST & S g
4ST81. M, K& &1 & G T W1 H
deATAF g1 G 3T ) Th g8 & AFean gsi
LG REC UG S RECICRELCA C
F & 915 31T &1 TohIeTl TAHFR & T4 & g8
T 9T ¢ | WHET, S fAa? 7 frshean
tlg’gﬁ%. G, TTCS THI3EC F g H G T
I

them is of different profession -Chartered
Accountant, Columnist, Doctor, Engineer, Financial
Analyst, Lawyer, Professor and Scientist but not
necessarily in the same order. F is sitting second to
the left of K. The Scientist is an immediate
neighbour of K. There are only three people
between the Scientist and E. Only one person sits
between the Engineer and E. The Columnist is to
the immediate right of the Engineer. M is second to
the right of K. H is the Scientist. G and J are
immediate neighbours of each other. Neither G nor
J is an Engineer. The Financial Analyst is to the
immediate left of F. The Lawyer is second to the
right of the Columnist. The Professor is an
immediate neighbour of the Engineer. G is second
to the right of the Chartered Accountant
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Eight people-E, F, G, H, J, K, L and M are sitting
around a circular table facing the centre. Each of
them is of different profession -Chartered
Accountant, Columnist, Doctor, Engineer, Financial
Analyst, Lawyer, Professor and Scientist but not
necessarily in the same order. F is sitting second to
the left of K. The Scientist is an immediate neighbour
of K. There are only three people between the
Scientist and E. Only one person sits between the
Engineer and E. The Columnist is to the immediate
right of the Engineer. M is second to the right of K. H
is the Scientist. G and J are immediate neighbours of
each other. Neither G nor J is an Engineer. The
Financial Analyst is to the immediate left of F. The
Lawyer is second to the right of the Columnist. The
Professor is an immediate neighbour of the Engineer.
G is second to the right of the Chartered Accountant
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(Columnist)
(Chartered M
Accountant)g

(Lawyer) J

G
(Financial F
Analyst) (Doctor)

[ (Engineer)

K (Professor)

(Scientist)

Who is sitting second to the right of E?
(a) The Lawyer (b) G (c) The Engineer (d) F (e) K

Who amongst the following is the Professor?
(@) F(b) L(c) M (d) K (e) J

Four of the following five are alike in a certain way
based on the given arrangement and hence form a
group. Which of the following does not belong to
that group?

(a) Chartered Accountant - H
(b) M - Doctor

(c) J - Engineer

(d) Financial Analyst - L

(e) Lawyer - K

it
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(Columnist)
(Chartered M
Accountant)g
(Lawver) J
G
(Financial F
Analyst) (Doctor)

[ (Engineer)

K (Professor)

(Scientist)

What is the position of L with respect to the
Scientist? (a) Third to the left (b) Second to the right
(c) Second to the left (d) Third to the right (e)
Immediate right

Which of the following statements is true according
to the given arrangement?

(a) The Lawyer is second to the left of the Doctor

(b) E is an immediate neighbour of the Financial
Analyst

(c) H sits exactly between F and the Financial Analyst
(d) Only four people sit between the Columnist and F
(e) All of the given statements are true

e ——

I
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A’ walks 10 km north from point Q to reach point H. He takes a left turn and walks 9 km to reach point S. On the
other side, ‘B’ walks 5 km north from point Y to reach point J. Point Y is 9 km either east or west from point Q.
Next ‘B’ turns to his right and walks 4km to reach point D. Also ‘A’ turned left from point S and reached point M

afterwalkingSkm.MisinwestdirectionfromJ.A'ﬁ%q@' 10ﬁ-ﬂﬁ3ﬂTﬁ3ﬂTﬂﬂﬂT%3ﬁTﬁ§HW
9§ 81 98 91¢ F{3aT & HR g s gg=st & Tow 9 Rl =erar B 3R, 'B'fiig v &g
a% Ugas & faw 5 et 3av Y 3 Teidr 81 g vRg o 9 Rt g3 a1 afkewr #781 smren B
=it g€ 3R Azem § 3 Ng paF qgm & v 4 A Toar 1 @y @ ARy s§ AW Hqzar @
AR 5 Bl Toa & a1 Rig M 9ET oar &1 M, ) aREw e 7 2

What is the shortest distance between points M and J?
(a) 10 km (b) 26 km (c) 18 km (d) 12 km (e) Cannot be Determined

If ‘B’ walks 4 km east from point Y, then he is in which direction
with respect to point D? (a) South (b) North-west (c) North-east (d)
North (e) South-west

What is the shortest distance between points Q and D? (a)
v194 km (b) v198 km (c) V197 km (d) v196 km (e) v195 km

What is the direction of J with respect to Q? (a) South (b)
North-west (c) North-east (d) North (e) South-west
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3Ts AT A, B, C, D, E, F, G 3iIX H &1 SI=H AT 3R 18
77, 9,16 31X 19 T FT EIT | 3AH FTRAF T AT
AT FYE T AT Ber THE &1 T T/ FHI1 dTel SATFad) FT
S 39 T g3r ar Y vk qui qat 3 =g Sy Tor
qeig & 3 &:- oY, &, wrer 30X ) et safFat &
ST 39 o7 &3 AT Y el S AT WEAT Y SATdT
¥ -9, AN, 3477 3R Far| 98 FfFa oy Nar Grodg
%tﬁrﬂwﬁﬂgmma’rmﬁ#ﬂﬁﬁ#wqﬁaﬁ
1 D 3R T W71 98 Fr arer F ST PR T e
STE1 3T &1 D Y T3T IHE A8 &1 D 311X 31TH 948G Flat
arer & = et safaa a1 gw &) 3mH gHE FI g
31 AT W1 98 FIT aTS & T R g e d F7 Se
g1 AT | <AelT T1 9Hie YA aTel SATF & a1 YeT g0
st Y FEAT A F Tge YaT gu sAfFaal f FEar d U
F ¢| T ¥ 99e § 78 B § 8% T daT g3m ATl B
F IH IS A &1 B A TgF YT gu e AT HEAT G &
a1¢ YeT gU safFaa) Y &A1 F THT §1 &Y T F1 96E
&t arer 31X H & AT fa safFa derew 2 vtk 3D
THE FeT T FT SToH T &1 AgleT 3 &31T A7 Afdhet AT
F €| C T A VAT TT THE FI& aTer & 91 g3 AT
ERPE OIS A 8| FR AT qHS RIS

Eight friends A, B, C, D, E, F, G and H born on 7th, 9th, 16th
and 19th in March and July. Each one of them likes either a
colour or a fruit. The persons who likes colours were born on
that day which is a perfect square and the colour they likes
are:- Yellow, Green, Red and Blue. The persons who were
born on the day which denotes a prime number like fruits —
Apple, Cherry, Mango and Banana. The one who likes yellow
colour was born on a day which is a perfect square in the
month of march. No person was born between D and the one
who likes yellow. D doesn’t like colours. Three persons were
born between D and the one who likes Mango. There is no
person born between the one who likes Mango and Blue
colour. The number of people born after the one who likes
blue colour is one less than the number of persons born
before A. The one who likes Apple was born immediately
before B. B do not like Mango. The number of people born
before B is same as the number of persons born after G.
Three persons were born between the one who likes Green
and H. H and the one who likes Cherry was born in the same
month but not in March. C was born after the one who likes
Blue colour. E doesn’t like any colour. F doesn’t like Apple.
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Eight friends A, B, C, D, E, F, G and H born on 7th, 9th, 16th and
19th in March and July. Each one of them likes either a colour or
a fruit. The persons who likes colours were born on that day
which is a perfect square and the colour they likes are:- Yellow,
Green, Red and Blue. The persons who were born on the day
which denotes a prime number like fruits — Apple, Cherry,
Mango and Banana. The one who likes yellow colour was born
on a day which is a perfect square in the month of march. No
person was born between D and the one who likes yellow. D
doesn’t like colours. Three persons were born between D and
the one who likes Mango. There is no person born between the
one who likes Mango and Blue colour. The number of people
born after the one who likes blue colour is one less than the
number of persons born before A. The one who likes Apple was
born immediately before B. B do not like Mango. The number of
people born before B is same as the number of persons born
after G. Three persons were born between the one who likes
Green and H. H and the one who likes Cherry was born in the
same month but not in March. C was born after the one who
likes Blue colour. E doesn’t like any colour. F doesn’t like Apple.
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Month T Date Persons Colour/Fruit
March 7 E APPLE Who among the following likes green colour?
March 9 B GREEN (a)B(b)A(c)G(d)H(e)C
March 16 A YELLOW
Ma;Ch 179 g ?:‘:ll;‘;g¢ Who was born on 16th March?
JUy a) D (b) A(c) G (d)F(e)E
faly 5 . R (a) D (b) A(c) G (d) F (e)
July 16 G BLUE Who among the following likes cherry?
July 19 C MANGO (a)F(b)G(c)H(d)A(e)B

Who was born on 19th July?
(@) C(b)A(c)D(d) B(e) E

Who among the following likes red colour?
(a)A(b)B(c)H(d)C(e)D
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if only Conclusion I follows
if only Conclusion 11 follows
if either Conclusion L or II follows

if neither Conclusion I nor I follows
1f both Conclusion 1 and 11 follows

Statement
Conclusions
Statement
Conclusions

Statement
Conclusions

Statement

Conclusions
Statement

Conclusions

L>M.M=>N_N=>P

L1I=P

InnM=p

A=B,BB=H, H=G

L A=

I1. A=H

H=JLF=H lI=Jl=Kk

L H>I1

1. 1=F

A>B>=>C<D=E

LB=E

ILB<=pP

P=M=0Q.,Q=Z>N

LM=LA

ILLN<P
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AT FRA, B, C, D, E, |, H T T&T g & 3w
Y T AT FIF 5H YHR Ik HT AT & R
FYS ot & I TUITohaT & IHTHR T G@X &
AT WY o &1 (3GTET0T & foiT- A, B & A1 @3t
A8 ?), B, A 31X ¢ ¥ g1y wer Adt ¥ sl s«
oXE) | F FR AT AN UCIA $I & ITFS Siodl
FERIOT &1 1, A S I10 & Y T W | 9k
PRI F T NT T IONFFRETNEIE, Bh e
¥ gEY TI W1 H 0 SioTel #K ¢ 3R fanelt
% AT SR W E@I ¢ C T 9 R ¢ 3T
D & &0 ¥ T4 T WX @3l g | T3ft FRI )
3oTeh G@RT 91T W IV T 1 718 gl & FTAR
RS FH A gafeyd [FIATIATE| FR B 27
fralt & gt 7 I & 3T FR € 40 foralt

dT FIAT &1 H, E & it 3 81 1 e

€ HR T § 3R 3TF T A 1S 9eid
aRve FR TN AT 8|

SevencarsA,B,C,D, E, |, Hare parked in a
linear row facing north in such a way that no
two cars parked with each other of according to
alphabetical order (for ex- A is not parked with
B, B is not parked with A and C and so on).
Some cars either of Petrol or some are Diesel
variant. | is third to the left of A. More than
three cars are parked between the petrol cars. E
is second to the right of B. H is a diesel car and
parked at one of the extreme end. C is a diesel
car and parked fourth to the right of D. All the
cars are arranged in ascending order according
to the distance covered by them from left to
right. Car B covers 27km and Car C cover 40km.
H is to the right of E. | is of Diesel variant car and
no petrol variant car parked next to it.
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SevencarsA,B,C,D, E, I, H are parked in a
linear row facing north in such a way that no
two cars parked with each other of according to
alphabetical order (for ex- A is not parked with
B, B is not parked with A and C and so on).
Some cars either of Petrol or some are Diesel
variant. | is third to the left of A. More than
three cars are parked between the petrol cars. E
is second to the right of B. H is a diesel car and
parked at one of the extreme end. C is a diesel
car and parked fourth to the right of D. All the
cars are arranged in ascending order according
to the distance covered by them from left to
right. Car B covers 27km and Car C cover 40km.
H is to the right of E. | is of Diesel variant car and
no petrol variant car parked next to it.
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! P | ; ¢ Which among the following are petrol cars?
‘ ‘ ‘ (@) DandE(b)A,I,B(c)Aand D (d) A, I, D, B (e)
None of these

Petrol  Diesel Diesel  Diesel  Diesel  Petrol  Diesel

27km 40km What can be the distance covered by car I?
(a) 45km (b) 63km (c) 17km (d) 31km (e) 25km

Which among the following cars are parked at
extreme ends?

(a) D, E (b) H, B (c) H, D (d) D, B (e) None of these

Which among the following car is parked immediate
left of car C? (a) E (b) H (c) D (d) A (e) None of these

How many cars are parked in between car B and car
H? (a) Four (b) Three (c) Five (d) Two (e) None of
these
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MESPBZA’?KN9TRU46]JDF1Q3W8V[SZ

How many such numbers are there in the above sequence, each of which is both
immediately preceded by and immediately followed by a consonant ? IWITFd HeJshH H

e Frae et § e @ ye & O uge 3 O 91 A vF horeT &7
(a) None (b) One (c) Two (d) Three (e) More than three

If the order of the first twenty letters/numbers in the above sequence is reversed and the

remaining letters/numbers are kept unchanged, which of the following will be the ‘
fourteenth letter/number from the right end after the rearrangement? I7¢ 3IUeFd HH H

ggel I NATV/EEI3T & FH F' 3¢ A1 e 3T AT reRy/FEIT3MT A
IqREfdd @1 ST, af qAedae T & dG AFfaf@d & @ Fid A7 3EHEdr
B8R & dlegal NaR/TEAT 2eN?

(a) B (b) 6 (c) 2 (d) 1 (e) None of these
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MESPB2ATKN9TRU461JDFIQ3IWSVISZ

Which of the follwing letter/number is the eighth to the left of the nineteenth
Ietter/n’umber from the left end? ﬁrﬁlﬁf@ﬁ' H & ST T HeR/AEIT 97 BN @
JedAlHd ET/HEIAT & 15 31T 3aar 7 (a) N (b) T (c) 1 (d) D (e) None of these

Four of the following five are alike in a certain way with regard to their position in the
above sequence and so form a group. Which is the one that does not belong to that
group? AT 9T # ¥ IR 3WIFd FH A 39« AT & TaU A
ffad lF @ o= ¢ 3R sufaT v ¥Hg 941d 81 9% FiT 91§ S 3 9
¥ AT 781 87

(a) WIQ (b) PAE (c) NR7 (d) 4JR (e) D16
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How many such vowels are there in the above sequence, each of which is immediately
preceded by a consonant and immediately followed by a vowel?

mzrcrm#ﬂ#ﬁmﬁw% OdH 9 & &F 9ge T Tolod 3R S+

dic H Ush X g7
(a) None (b) One (c) Two (d) Three (e) More than three
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Eight friends, A, B, C, D, E, F, G and H are sitting
in a circle facing the centre, not necessarily in
the same order. D sits thrid to the left of A. E sits
to the immediate right of A. B is third to the left
of D.G is second to the right of B.C is an
immediate neighbour of B. C is third to the left
of H.

3ms fA9, A,B,C,D,E, F,G3IX HU® gd &
¥z AT T AT FE 35 § T AT
=il 7 & &1 D,AF T ¥ DAY TIFT W
doT 81 E,A% & S 43T 81 B,D &
dY YT W El G, BFH g &
W gl C, B&HT AFecad q=rdT B
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Who amongst the following is sitting exactly between F
and D ?
(a) C(b) E (c) H (d) A (e) None the these

Three of the following four are alike in a certain way based
on the information given above and so from a group.
Which is the one that does not belong to that group ? (a)
DC (b) AH (c) EF (d) CB (e) None the these

Who amongst the following is sitting second to the left of
H? (a) E (b) B (c) A (d) Data inadequate (e) None the these

Who amongst the following are immediate neighbours of
G? (a) CA (b) AF (c) DC (d) DF (e) None the these

Who amongst the following is sitting third to the right of
A? (a) F (b) B (c) B (d) C (e) None the these
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